
Bài 1 trang 147 SGK Toán 4 
Đề bài:
Viết tỉ số của a và b, biết:

a) a= 2

b= 3

b) a= 7

b= 4

c) a= 6

b= 2

d) a= 4

b= 10

Lời giải:
a, Tỉ số của a và b là:[image: image1.jpg]


(hoặc 2:3)

b, Tỉ số của a và b là:[image: image2.jpg]]



(hoặc 7:4)

c, Tỉ số của a và b là:[image: image3.jpg]Ny



(hoặc 6:2)

d, Tỉ số của a và b là:[image: image4.jpg]


(hoặc 4:10)

Nói thêm:
Cũng có thể trình bày gọn hơn:

[image: image5.jpg]



hoặc:

a, a:b = 2:3

b, a:b = 7:4

c, a:b = 6:2

d, a:b = 4:10


